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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3478 ±Constant = 3.213 

 0.7024 ±Mean     = 121.3 

 0.4966 ±Sigma    = 7.946 
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 0.3478 ±Constant = 3.213 

 0.7024 ±Mean     = 121.3 

 0.4966 ±Sigma    = 7.946 
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 0.3365 ±Constant = 3.108 
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 0.5134 ±Sigma    = 8.215 
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 0.3365 ±Constant = 3.108 
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 0.5134 ±Sigma    = 8.215 
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Chip 2 Vt50 at 2.00fC Nent = 128    
 0.3259 ±Constant = 3.011 

 0.7494 ±Mean     = 121.5 

 0.5298 ±Sigma    = 8.479 
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 0.3259 ±Constant = 3.011 

 0.7494 ±Mean     = 121.5 

 0.5298 ±Sigma    = 8.479 
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 0.3506 ±Constant = 3.239 

 0.6968 ±Mean     = 120.8 
 0.4927 ±Sigma    = 7.883 
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 0.3506 ±Constant = 3.239 
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 0.4927 ±Sigma    = 7.883 
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 0.3477 ±Constant = 3.212 

 0.7026 ±Mean     = 120.9 
 0.4968 ±Sigma    = 7.949 
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 0.3477 ±Constant = 3.212 

 0.7026 ±Mean     = 120.9 
 0.4968 ±Sigma    = 7.949 
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Chip 5 Vt50 at 2.00fC Nent = 128    
 0.3237 ±Constant =  2.99 

 0.7547 ±Mean     = 121.6 
 0.5336 ±Sigma    = 8.539 
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 0.3237 ±Constant =  2.99 

 0.7547 ±Mean     = 121.6 
 0.5336 ±Sigma    = 8.539 
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Chip 0 Gain at 2.00fC Nent = 128    

 2.464 ±Constant = 22.76 
 0.09915 ±Mean     = 53.91 
 0.0701 ±Sigma    = 1.122 
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 2.464 ±Constant = 22.76 
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  2.19 ±Constant = 20.23 
 0.1116 ±Mean     = 53.61 
 0.07889 ±Sigma    = 1.262 
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  2.19 ±Constant = 20.23 
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 0.07889 ±Sigma    = 1.262 
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 2.619 ±Constant = 24.19 
 0.09328 ±Mean     = 52.56 
 0.06596 ±Sigma    = 1.055 
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 2.619 ±Constant = 24.19 
 0.09328 ±Mean     = 52.56 
 0.06596 ±Sigma    = 1.055 
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 2.665 ±Constant = 24.62 

 0.09167 ±Mean     = 54.18 

 0.06482 ±Sigma    = 1.037 
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 2.665 ±Constant = 24.62 

 0.09167 ±Mean     = 54.18 

 0.06482 ±Sigma    = 1.037 
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 2.651 ±Constant = 24.48 

 0.09217 ±Mean     = 53.68 

 0.06517 ±Sigma    = 1.043 

Chip 4 Gain at 2.00fC Nent = 128    
 2.651 ±Constant = 24.48 

 0.09217 ±Mean     = 53.68 

 0.06517 ±Sigma    = 1.043 
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Chip 5 Gain at 2.00fC Nent = 128    
 2.121 ±Constant = 19.59 

 0.1152 ±Mean     = 53.02 

 0.08145 ±Sigma    = 1.303 

Chip 5 Gain at 2.00fC Nent = 128    
 2.121 ±Constant = 19.59 

 0.1152 ±Mean     = 53.02 

 0.08145 ±Sigma    = 1.303 

-60 -40 -20 0 20 40 60 80

n
(C

h
an

n
el

s)

0

2

4

6

8

10

12

14

16

Chip 0 Extrapolated Offset Nent = 128    
 1.203 ±Constant = 11.11 

  0.65 ±Mean     = 13.57 
 0.4596 ±Sigma    = 7.354 

Chip 0 Extrapolated Offset Nent = 128    
 1.203 ±Constant = 11.11 

  0.65 ±Mean     = 13.57 
 0.4596 ±Sigma    = 7.354 
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 1.217 ±Constant = 11.24 

 0.6423 ±Mean     = 12.72 
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Chip 1 Extrapolated Offset Nent = 128    
 1.217 ±Constant = 11.24 

 0.6423 ±Mean     = 12.72 
 0.4541 ±Sigma    = 7.266 
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 1.059 ±Constant = 9.785 

 0.738 ±Mean     = 17.07 
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Chip 2 Extrapolated Offset Nent = 128    
 1.059 ±Constant = 9.785 

 0.738 ±Mean     = 17.07 
 0.5218 ±Sigma    =  8.35 
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 1.119 ±Constant = 10.34 
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 1.119 ±Constant = 10.34 
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 1.191 ±Constant =    11 
 0.6562 ±Mean     = 13.28 
 0.464 ±Sigma    = 7.424 
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 1.191 ±Constant =    11 
 0.6562 ±Mean     = 13.28 
 0.464 ±Sigma    = 7.424 
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Chip 5 Extrapolated Offset Nent = 128    

 1.025 ±Constant = 9.467 
 0.7628 ±Mean     =  15.6 
 0.5394 ±Sigma    =  8.63 

Chip 5 Extrapolated Offset Nent = 128    

 1.025 ±Constant = 9.467 
 0.7628 ±Mean     =  15.6 
 0.5394 ±Sigma    =  8.63 
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Chip 0 Input Noise at 2.00fC Nent = 128    
  4.64 ±Constant = 42.86 

  3.51 ±Mean     =  1547 

 2.482 ±Sigma    = 39.71 

Chip 0 Input Noise at 2.00fC Nent = 128    
  4.64 ±Constant = 42.86 

  3.51 ±Mean     =  1547 

 2.482 ±Sigma    = 39.71 
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Chip 1 Input Noise at 2.00fC Nent = 128    
 4.528 ±Constant = 41.82 

 3.597 ±Mean     =  1582 

 2.543 ±Sigma    =  40.7 

Chip 1 Input Noise at 2.00fC Nent = 128    
 4.528 ±Constant = 41.82 

 3.597 ±Mean     =  1582 

 2.543 ±Sigma    =  40.7 
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 5.242 ±Constant = 48.42 
 3.107 ±Mean     =  1581 

 2.197 ±Sigma    = 35.15 
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 5.242 ±Constant = 48.42 

 3.107 ±Mean     =  1581 

 2.197 ±Sigma    = 35.15 
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 6.075 ±Constant = 56.11 
 2.681 ±Mean     =  1521 
 1.896 ±Sigma    = 30.33 
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 6.075 ±Constant = 56.11 
 2.681 ±Mean     =  1521 
 1.896 ±Sigma    = 30.33 
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   5.4 ±Constant = 49.89 
 3.016 ±Mean     =  1523 
 2.132 ±Sigma    = 34.12 
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   5.4 ±Constant = 49.89 
 3.016 ±Mean     =  1523 
 2.132 ±Sigma    = 34.12 
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Chip 5 Input Noise at 2.00fC Nent = 128    

 4.141 ±Constant = 38.25 
 3.933 ±Mean     =  1557 
 2.781 ±Sigma    =  44.5 
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 4.141 ±Constant = 38.25 
 3.933 ±Mean     =  1557 
 2.781 ±Sigma    =  44.5 
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Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3402 ±Constant = 3.146 

 0.7173 ±Mean     = 120.5 

 0.5071 ±Sigma    = 8.115 

Chip 0 Vt50 at 2.00fC Nent = 128    
 0.3402 ±Constant = 3.146 

 0.7173 ±Mean     = 120.5 

 0.5071 ±Sigma    = 8.115 
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Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3673 ±Constant = 3.393 

 0.6651 ±Mean     = 119.6 

 0.4703 ±Sigma    = 7.525 

Chip 1 Vt50 at 2.00fC Nent = 128    
 0.3673 ±Constant = 3.393 

 0.6651 ±Mean     = 119.6 

 0.4703 ±Sigma    = 7.525 
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 0.348 ±Constant = 3.215 

 0.702 ±Mean     = 120.9 

 0.4964 ±Sigma    = 7.942 
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 0.348 ±Constant = 3.215 

 0.702 ±Mean     = 120.9 

 0.4964 ±Sigma    = 7.942 
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 0.3301 ±Constant = 3.049 

 0.7401 ±Mean     = 123.8 
 0.5233 ±Sigma    = 8.373 
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 0.3301 ±Constant = 3.049 

 0.7401 ±Mean     = 123.8 
 0.5233 ±Sigma    = 8.373 
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Chip 4 Vt50 at 2.00fC Nent = 128    
 0.2794 ±Constant = 2.582 

 0.8741 ±Mean     =   123 
 0.6176 ±Sigma    = 9.889 

Chip 4 Vt50 at 2.00fC Nent = 128    
 0.2794 ±Constant = 2.582 

 0.8741 ±Mean     =   123 
 0.6176 ±Sigma    = 9.889 
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 0.3394 ±Constant = 3.135 

 0.7199 ±Mean     = 121.1 
 0.5091 ±Sigma    = 8.145 
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 0.3394 ±Constant = 3.135 

 0.7199 ±Mean     = 121.1 
 0.5091 ±Sigma    = 8.145 
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 2.894 ±Constant = 26.74 
 0.08441 ±Mean     = 52.74 
 0.05968 ±Sigma    = 0.955 
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 2.076 ±Constant = 19.18 
 0.1177 ±Mean     = 54.91 
 0.0832 ±Sigma    = 1.331 
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 2.287 ±Constant = 21.13 
 0.1068 ±Mean     = 54.33 

 0.07552 ±Sigma    = 1.208 
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Gain (mV/fC)0 10 20 30 40 50 60 70 80 90 100

n
(C

h
an

n
el

s)

0
2
4

6
8

10
12
14

16
18
20

Chip 4 Gain at 2.00fC Nent = 128    
 1.496 ±Constant = 13.82 

 0.1633 ±Mean     = 55.95 

 0.1154 ±Sigma    = 1.847 
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 2.327 ±Constant =  21.5 
 0.105 ±Mean     = 54.21 

 0.07423 ±Sigma    = 1.188 
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 1.073 ±Constant = 9.914 

 0.7284 ±Mean     = 15.19 
 0.5151 ±Sigma    = 8.241 
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  1.18 ±Constant =  10.9 

 0.6628 ±Mean     =  13.3 
 0.4686 ±Sigma    = 7.499 
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 1.217 ±Constant = 11.24 

 0.6423 ±Mean     = 10.72 
 0.4541 ±Sigma    = 7.266 
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 1.077 ±Constant = 9.946 
 0.7261 ±Mean     = 15.19 
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 0.9446 ±Constant = 8.726 
 0.8276 ±Mean     = 10.78 
 0.5852 ±Sigma    = 9.364 
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 1.107 ±Constant = 10.23 
 0.7062 ±Mean     = 12.23 
 0.4993 ±Sigma    =  7.99 
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 5.801 ±Constant = 53.59 

 2.808 ±Mean     =  1563 

 1.985 ±Sigma    = 31.77 
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 5.346 ±Constant = 49.38 

 3.047 ±Mean     =  1561 

 2.154 ±Sigma    = 34.47 
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 4.361 ±Constant = 40.28 

 3.735 ±Mean     =  1520 

 2.641 ±Sigma    = 42.25 
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  4.63 ±Constant = 42.77 
 3.518 ±Mean     =  1559 
 2.487 ±Sigma    =  39.8 
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 3.902 ±Constant = 36.04 
 4.175 ±Mean     =  1541 
 2.952 ±Sigma    = 47.23 
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 2.613 ±Constant = 24.14 
 6.233 ±Mean     =  1561 
 4.407 ±Sigma    = 70.52 
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 2.613 ±Constant = 24.14 
 6.233 ±Mean     =  1561 
 4.407 ±Sigma    = 70.52 
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